KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
[R5.5.31IRE 1ITEHET & (K=F) Al F oA A O HFR (S5

THRET(AF)a—K ITHET(KF)8  #HEH O 1M 2m 3 4® 5S% 6 7m 8 9

10 tHHT 156 2 0 2 0 2 3 3 1 4 4
20 fE&LET 160 2 1 2 3 5 3 4 4 5 2
30 @M 232 2 2 3 2 6 0 4 4 2 2
40 SRET 102 0 0 0 0 0 0 1 1 0 1
50 KET—T B 285 0 1 2 3 5 0 2 2 1 2
60 KET=TH 217 1 1 2 2 1 5 0 6 3 2
70 RET=TH 323 3 1 0 4 3 6 4 2 3 6
80 AT IEHET 84 1 0 4 1 2 2 2 1 1 1
90 PN I ET 197 1 2 2 1 3 2 2 3 2 2
100 b ALET 113 0 0 1 0 1 2 2 1 2 1
110 T HT 1127 24 20 16 26 23 21 24 24 26 27
120 ¥A;TAHT 201 6 2 5 8 5 2 4 6 4 7
130 #&FHT 378 7 7 2 6 3 3 9 3 3 7
140 EH[E M7 11 0 0 0 0 0 0 0 0 0 0
150 1 FFrHET 314 4 3 4 2 6 7 10 5 3 4
9999 KB XEt 3900 53 40 45 58 65 56 71 63 59 68
510 AETHT B 412 2 4 2 4 4 3 2 4 2 6
520 HpEEMT 117 2 7 2 3 1 2 4 2 5 1
530 /\fEHET 217 0 1 1 2 0 0 2 1 0 2
540 15 EHT 384 1 3 1 2 3 3 2 8 3 1
550 FithET 334 2 1 4 2 0 3 7 1 5 8
560 = ZLHT 80 0 0 0 0 0 0 0 0 0 0
570 & EHT 60 0 1 1 3 0 3 3 0 3 1
580 #rBHET 163 4 1 0 1 0 2 0 3 0 2
590 FriEMT 70 0 1 0 0 0 0 2 0 0 1
600 ZEARET 524 4 8 0 6 8 7 10 8 14 9
610 JEHT 177 0 0 1 4 2 2 1 3 2 6
630 ¥TERTZTH 5 0 0 0 0 0 0 0 0 0 0
9999 J\ (K& XEt 2543 15 27 12 27 18 25 33 30 34 37
1010 R HT 167 2 1 0 2 2 1 4 0 2 4
1020 k£ A HT 283 7 4 4 8 10 5 5 11 7 8
1030 H1 FrHT 273 7 3 10 7 8 9 9 9 9 8
1040 &5 HT 464 13 9 14 8 11 12 9 18 8 13
1050 £ FHHET 619 15 12 14 8 11 11 13 15 11 11
1060 F _EHT 541 13 13 12 20 16 19 17 14 11 13
1070 YR HET 658 18 9 9 9 13 14 12 13 13 9
1080 & HHET 383 5 13 6 9 1 8 8 3 9 7
1090 BiEHT 513 4 5 8 711 10 6 18 5 14
1100 L BEHT 542 13 9 15 7 15 17 14 10 16 18
1110 $Z1EHET 146 3 1 2 1 0 5 1 2 8 6
1120 #21E JTHT 78 0 0 2 0 0 0 0 0 2 2
1130 +4&HT 23 0 0 0 0 1 1 2 1 0 0
1140 FkJR=HET 16 0 0 1 0 1 0 1 0 0 0
1150 #JRET—TH 177 0 0 2 1 0 3 0 4 2 3
1160 #/RET—T B 225 1 2 2 1 3 3 1 2 4 5
1170 ;5 /KHET 168 2 1 1 0 3 0 2 2 2 0
1180 EE&FLHET 207 0 3 0 2 1 4 3 2 3 5
1190 ¥ F AHET 181 5 2 6 1 4 5 2 2 4 4
1200 XFHEI—TH 128 0 0 0 2 1 2 1 1 1 2
1210 XFHEIZTH 197 1 0 3 2 2 1 3 4 1 4
1220 $HT 152 1 1 0 2 2 0 0 0 1 2
1230 #EHET 160 0 0 0 2 1 1 3 1 3 3
1240 ZEHT 133 1 0 0 0 1 0 3 2 3 1
1250 fEERT 151 2 1 4 2 2 2 1 0 2 0
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1260 ABEFR 3@ 42 0 0 1 1 1 2 0 1 0 1
1270 EEHT 159 2 2 2 2 1 2 0 0 0 1
1280 ARAHET 165 0 0 1 0 0 1 0 1 1 3
1290 £RHT 200 2 0 1 2 1 0 3 4 3 3
1300 % ZEHT 149 0 1 1 1 2 1 0 3 1 1
1310 RJLHT 77 1 0 1 2 1 0 1 0 0 0
9999 XHEMX &t 7377 118 92 122 109 126 139 124 143 132 151
1510 #EHN BT 627 7 10 10 8 10 13 16 13 14 13
1520 }EHD T ET 619 2 5 4 7 7 6 7 11 9 8
1530 HEHNSTHT 313 4 6 5 4 7 4 10 5 1 9
1540 K123FHT 531 3 8 6 7 8 10 8 5 4 8
9999 HEMNI X ET 2000 16 29 25 26 32 33 41 34 28 38
2010 = S5 HET 192 0 1 2 4 3 2 4 3 2 4
2020 %= E7aHET 275 5 2 2 1 0 8 10 9 8 10
2030 ET 20 0 1 0 0 0 0 0 0 0 1
2040 HMEBET—T B 195 2 0 4 3 2 5 1 1 4 5
2050 ;MET=T H 190 1 2 1 1 4 3 4 4 2 3
2060 ¥5 i HET 35 0 0 0 0 0 0 0 0 0 0
2070 +RET—TH 224 1 2 3 6 3 5 8 9 7 10
2080 +RETZ_TH 185 3 1 4 2 1 4 2 1 1 4
2090 wy g ET 1549 10 18 20 9 18 19 18 30 24 29
2100 HibHET 221 4 6 0 4 6 4 2 4 5 8
2110 HEMNETET—T B 213 2 8 3 5 4 7 4 5 5 7
2120 HEWIETET—T B 242 3 2 9 4 3 8 5 6 8 7
9999 E B XET 3541 31 43 48 39 44 65 58 72 66 88
2510 $AUEHET 1894 24 34 M 36 27 38 37 46 47 51
2520 SKEEHT 1180 13 21 23 21 20 28 36 33 28 38
2530 = /INERET 388 10 10 8 17 11 8 8 10 5 3
2540 Fi5HET 441 3 3 5 2 5 7 4 7 6 7
2550 ;HET 227 3 2 5 3 3 3 0 4 2 9
2560 = ST 885 9 9 9 12 15 13 18 14 14 16
2570 X &HT 80 0 0 0 1 0 0 1 1 0 1
9999 MAE X5 5095 62 79 91 92 81 97 104 115 102 125
3010 KATHT 930 8 13 13 12 14 15 171 14 11 14
3020 ;@I HT 897 15 15 18 16 20 8 14 25 16 18
3030 L EFET 696 10 7 15 12 10 23 13 19 18 17
3040 B _EAT 152 1 2 0 1 1 1 1 2 4 2
3050 wy BRI A AT 2125 61 55 52 47 47 56 70 43 56 48
3060 THESTHT 480 2 6 7 2 5 8 2 7 5 5
3070 tHBREHT 445 2 3 4 8 6 6 6 9 6 10
3080 H AT 365 7 4 8 10 10 13 7 22 10 17
3090 FH R ERAT 384 4 9 11 10 10 5 8 14 16 11
3100 H e FGHET 499 8 3 10 6 10 9 8 9 10 11
3110 HepiLET 419 4 2 2 11 2 6 7 7 6 3
9999 J\ T X &t 7392 122 119 140 135 135 150 153 171 158 156
3510 £ R _EHT 173 0 0 1 1 3 1 3 2 0 1
3520 2R T 342 3 4 4 2 5 4 8 2 3 9
3530 2R THT 915 12 16 18 17 19 16 25 22 25 22
3540 Z= B KHT 317 3 4 5 1 8 2 2 2 3 2
3550 AEFHT 753 7 7 10 11 12 7 15 8 13 11
3560 &= T ERAT 269 2 5 2 2 3 1 1 2 1 1
3570 = T AT 805 10 16 16 12 13 14 9 15 12 13
3580 LI HET 548 5 11 4 7 4 9 7 7 12 6
3590 ;EMT 18 0 0 0 0 0 0 1 0 0 0
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9999 S HKXET 4140 42 63 60 53 67 54 71 60 69 65
4010 41| NET 302 4 1 2 0 1 2 2 5 4 2
4020 {ESHT 76 0 0 0 1 1 2 2 1 1 0
4030 i5HT 189 3 0 2 4 3 0 2 2 4 2
4040 S HEAHT 171 2 3 4 3 3 4 2 2 4 4
4050 7K SHT 386 4 2 2 3 5 2 10 4 5 10
4060 ESZ HAT 336 4 4 5 5 4 8 6 6 4 6
4070 Jt/RHET 153 0 4 0 2 2 2 6 2 1 2
4080 =;I;HAMT 175 2 0 4 3 2 1 4 6 5 5
4090 FRERHT 269 1 3 2 3 6 2 6 2 3 6
4100 FgFEFOET 110 0 2 2 0 5 1 2 4 2 2
4110 JbFFOET 114 1 0 1 1 1 1 1 4 3 4
9999 &M XEtT 2281 21 19 24 25 33 25 43 38 36 43
4510 EREE—ZEHT 756 8 7 5 5 3 5 2 3 6 10
4520 EREE — ZFEHT 153 2 3 4 2 0 2 0 3 2 2
4530 EREE=FKHT 186 2 1 3 2 0 4 3 5 7 5
4540 EREEIUZEHET 172 3 4 2 3 2 3 4 2 1 2
4550 AREE R HHET 111 1 0 1 1 0 0 1 1 3 0
4560 EREE/NFEHET 80 1 0 1 0 0 2 1 1 3 3
4570 EREE-C AT 116 0 1 0 1 0 2 0 2 1 2
4580 AREE/\FHET 78 0 0 0 0 1 0 1 2 1 1
4590 BEREE N ZEHT 146 1 0 2 1 2 2 3 1 0 2
4600 AR EE+ZEHT 197 1 1 2 0 0 2 0 2 0 2
4610 AREE+—ZBHT 176 1 5 1 2 4 1 2 1 2 2
4620 AR+ —FFHET 326 9 7 11 4 6 0 5 2 2 3
9999 ARERXET 2497 29 29 32 21 18 23 22 25 28 34
5010 FAF0H HERT 184 2 3 2 3 2 5 3 2 4 3
5020 FRF0BAELET 178 4 1 3 0 1 4 2 1 1 3
5030 FAFOME{—HT 190 3 3 4 1 2 2 3 1 3 2
9999 AN XET 552 9 7 9 4 5 11 8 4 8 8
5510 b R ET 203 0 2 2 5 2 6 4 5 5 4
5520 = HhET 530 4 12 7 8 10 14 9 13 13 9
5530 FA= HT 478 10 6 7 5 5 7 4 7 9 4
5540 T EERT 222 2 2 2 3 3 0 8 0 4 2
5550 ERHT 66 0 0 0 0 1 0 1 1 0 0
9999 EHhARX &t 1499 16 22 18 21 21 27 26 26 31 19
6010 FEIHET/MER 75 0 0 0 1 0 0 2 2 1 1
6020 [EHET o 92 0 1 2 1 3 0 1 1 0 2
6030 [ERTA I 87 0 0 2 0 1 0 1 0 0 3
6040 BZEFHET 179 1 3 3 2 5 0 3 5 4 6
6050 JI|EHETER 132 0 0 1 1 0 0 1 1 0 1
6060 JI|EHETF 93 4 1 4 1 4 3 1 1 3 0
9999 FEERXET 658 5 5 12 6 13 3 9 10 8 13
6510 HZEAFBHET 22 0 0 0 0 1 0 1 0 2 0
6520 B & A KIEHET 168 0 0 2 2 0 2 2 0 3 0
6530 HZEAFTHET 95 1 0 0 1 0 1 0 2 0 1
6540 HZEAILUTHT 156 0 0 2 1 1 0 0 2 1 3
6550 B =AM Z NET 84 1 0 0 0 1 0 1 1 1 1
6560 HZ=AIELHT 111 0 1 0 0 1 0 0 0 2 1
6570 H R AIEFHT 144 0 1 1 0 1 1 0 0 0 0
6580 B ZAEHRT 92 0 0 1 1 0 4 0 0 0 0
6590 HZ= ATHET 54 0 0 1 0 1 0 1 0 0 1
6600 B Z A HHT 83 0 1 0 0 0 1 2 1 1 1
6610 H&XA L FHHET 42 0 1 1 1 0 1 0 0 0 0
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6620 HZE A FGHET 42 0 1 0 0 0 1 0 1 2 1
6630 HZEA T AT 94 0 0 0 1 0 1 0 2 0 1
6640 B &= A EitlT 33 0 0 0 0 0 0 0 1 0 0
6650 B & ASRHET 1 0 0 0 0 0 0 0 0 0 0
6660 B Z A RLHET 51 0 0 0 0 0 0 0 0 0 0
9999 HEAKRKXET 1272 2 5 8 7 6 12 7 10 12 10
7010 Z RMOET 141 0 0 1 2 1 1 0 2 0 3
7020 — RAHT 246 0 0 0 2 2 1 2 3 0 3
7030 — R FRHAET 92 0 2 0 1 0 1 0 0 1 1
7040 — B T KEFHT 180 0 0 1 0 0 2 1 1 1 0
7050 = R ¥y H I HET 95 0 0 0 0 0 0 0 0 0 0
9999 — R XEt 754 0 2 2 5 3 5 3 6 2 7
8011 JRAHTFEERL 56 0 0 0 0 0 1 0 0 0 0
8012 YAHTFEERA 116 0 1 0 1 0 1 0 1 0 0
8013 IR AHTFERIL 61 1 0 1 0 1 0 0 1 0 1
8021 IRAHTZEKLY 73 0 0 0 0 1 0 0 1 0 0
8022 IR AHTIEKA 4 0 0 0 0 0 0 0 0 0 0
8023 IR AHTIEKIE 6 0 0 0 0 0 0 0 0 0 0
8031 IRAHTH ALY 134 0 1 0 0 2 0 1 0 1 1
8032 {AETHAA 6 0 0 0 0 0 0 0 0 0 0
8033 IRAHTH AL 13 0 0 0 0 0 0 0 0 0 0
8041 IR AHTELIRL 61 0 0 0 0 0 0 0 0 0 1
8042 IR AHTELIRA 23 0 0 0 0 0 0 0 0 0 0
8043 IR AHTELIR L 16 0 0 0 0 0 0 0 0 0 0
8044 R AHTELIRIZ 25 0 0 0 0 0 0 0 0 0 0
8045 IR AHTALIR (X 45 0 0 0 0 0 0 0 0 0 0
8050 R AHTIRA 113 0 0 0 0 0 0 0 0 0 0
8060 IR AHTFT 97 0 0 1 1 1 1 0 0 0 0
8070 IRAHBTER 98 0 1 0 0 1 0 1 0 0 0
8080 I AHT ki 35 0 0 0 0 0 0 0 0 1 0
8090 I AHTH;EE 27 0 0 0 0 0 0 0 0 0 1
8100 Y AHETH /IR 16 0 0 0 0 0 0 0 0 0 0
8110 IRAHTJI| 5 33 0 0 0 0 0 0 0 0 0 0
8120 IR AHETEE" 63 0 0 0 0 0 0 0 0 0 0
8130 IR AHTH L 61 0 0 0 0 0 1 0 0 1 1
8140 IRABTEFERT 98 0 0 0 0 0 0 0 0 0 0
8150 IRAHTHFkK L 75 0 0 0 0 0 0 0 1 0 0
9999 AKX ET 1355 1 3 2 2 6 4 2 4 3 5
9010 FTHTKZH 536 7 8 15 12 7 10 4 12 10 7
9020 FTHTEH IR 331 11 4 9 4 8 6 5 7 5 6
9030 FTHT#HZEH 981 19 20 37 22 45 31 36 39 39 31
9040 FTHTHESH 1123 12 17 17 15 15 24 31 21 24 32
9999 FT X Et 2971 49 49 78 53 15 11 76 8 78 76
9110 SRET T Hik 475 5 8 8 7 8 13 6 7 10 10
9120 $ERTH L 233 2 3 0 2 1 3 1 3 2 4
9130 $RETH B 115 3 0 2 2 1 4 1 1 3 4
9140 SRET T+t 350 5 6 6 3 8 5 5 7 5 3
9150 $BHT L 45 447 4 7 6 11 10 14 7 9 9 9
9160 SRHETERHT 650 7 9 10 7 26 8 20 12 18 20
9170 $ERTAH 841 1 11 14 17 13 15 14 17 21 20
9180 SRHETER 557 6 4 8 6 6 11 6 9 11 7
9190 #ERTZ O 179 1 2 1 1 1 2 1 4 5 4
9200 $EHTEFIF 169 1 8 1 2 2 2 4 4 3 4
9210 $RET=H 306 5 3 1 4 5 6 6 6 2 2
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9220 SEMETHH 487 10 10 10 10 13 16 13 9 15 13
9230 SxET &M 596 1 7 8 7 12 12 15 9 13 10
9240 $RHTIEE 218 1 1 3 4 4 5 5 5 3 6
9250 $EETILHrith 488 6 2 8 5 7 8 8 11 6 7
9999 fERIX &t 6111 68 81 86 88 117 124 112 113 126 123
9310 R[FHET:AR 178 1 1 1 2 1 0 2 2 0 2
9320 FFHATIL 188 2 2 1 2 2 3 2 0 2 3
9330 E[ZMET/NE 126 1 2 1 1 1 1 0 1 2 1
9340 R [ZHTRY 324 4 2 4 3 3 7 5 2 6 6
9999 H[G#XEt 816 8 7 7 8 7 11 9 5 10 12
9410 RET T & 290 1 1 0 4 2 3 3 4 3 4
9420 RHETHE 197 0 0 0 0 1 0 1 0 0 2
9430 RHETERK 133 0 0 0 0 0 0 0 0 0 1
9440 RETAEF 12 0 0 0 0 0 0 0 0 0 0
9450 RETHEIR 21 0 0 0 0 0 0 0 0 0 0
9460 RET{—_HE 28 0 0 0 0 0 0 0 0 0 0
9470 RETER 5 0 0 0 0 0 0 0 0 0 0
9480 RHETHER 45 1 0 1 0 0 0 0 1 0 0
9999 RiXXEt 731 2 1 1 4 3 3 4 5 3 7
99999 H&Et 57575 669 722 822 783 875 938 976 1019 993 1085
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ARET (K a—F THRET(KF)& 108 11E 12 13@ 14 15 16 17 18 19
10 HAT
20 [ d-HT
30 JEHT
40 LRHET
50 KET—T B
60 AET=TH
70 RET=TH
80 AT IR AT
90 FEHATIRAT
100 b ALET
110 #¥3;THT
120 #A;TAHET
130 t&FHT
140 HEi[EET
150 1 FFrHET
9999 KER X &t
510 AETHT B
520 4L EEMT
530 J\It&HET
540 15 2AT
550 FithET
560 = ZEHT
570 EEHT
580 ¥TREAET
590 FriEMT
600 ZERHET
610 FHT
630 FERT T B
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9999 /\ KX &t 2 3 40 3 40 5 5 44 4 48
1010 R HT 3 5 4 0
1020 £ FHET 4 1 8 6 1
1030 H1 FrHT 1 1 11 10 4 1 6 13 6
1040 74 FrHT 6 7 9 1 9 11 9 7 11 9
1050 £ FHHET 19 13 17 1 14 16 18 10 15 13
1060 F _EHT 11 10 11 14 13 15 19 6 9
1070 YR HET 10 19 11 19 17 18 10 10 15
1080 & HHET 9 5 9 8 3 10 7 4 10
1090 BiEHT 13 10 7 10 16 5 6 10 6
1100 L BEHT 13 12 12 2 18 17 11 11 10 10
1110 $Z1EHET 0 5 1 4 0 3 1 3 1
1120 #21E JTHT 0 1 0 1 0 2 0 0 1
1130 +5:HT 0 1 0 0 0 0 0 0 0
1140 FkJR=HET 0 2 0 1 0 0 0 0 0
1150 #JRET—TH 4 4 0 1 2 0 2 4 4
1160 #/RET—T B 4 2 3 1 1 0 5 3 1
1170 ;5 /KHET 4 4 3 5 2 4 2 1 1
1180 EE&FLHET 3 4 4 4 3 2 3 1 3
1190 ¥ F AHET 2 1 2 1 3 1 3 5 3
1200 XFHEI—TH 1 1 2 1 3 0 1 1 1
1210 XFHEIZTH 4 1 1 7 4 3 4 1 4
1220 T 1 5 2 3 1 2 4 5 1
1230 #EHET 3 0 3 3 1 0 2 3 2
1240 ZEHT 3 2 1 5 0 3 2 1 3
1250 fEERT 3 2 2 1 1 2 4 3 4
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1260 fEH & 0 0 0 0 0 0 0 1 0 0
1270 EEHT 0 0 1 0 1 1 1 1 0 0
1280 ARAHET 2 2 4 0 2 4 1 3 2 5
1290 £RHT 4 2 2 2 3 2 3 0 2 3
1300 % ZEHT 3 1 1 2 1 3 1 1 1 0
1310 RJLHT 0 0 0 1 0 1 0 2 0 0
9999 XHEMX &t 137 135 126 120 163 139 133 129 126 116
1510 #EHN BT 10 12 21 18 8 20 20 17 6 19
1520 HEHITET 13 9 7 9 11 17 15 12 12 11
1530 HEHNSTHT 3 6 7 4 6 7 3 4 4 3
1540 K123FHT 9 7 8 11 10 7 6 5 9 7
9999 HEMNI X ET 35 34 43 42 35 51 44 38 31 40
2010 £ E AT 4 7 2 6 7 6 6 2 9 2
2020 % &7 9 7 7 4 6 5 2 9 6 8
2030 ET 0 0 0 0 1 0 0 1 1 0
2040 JET—TH 4 4 6 1 5 2 5 4 5 7
2050 ;MET=T H 1 3 2 3 2 3 2 4 2 5
2060 ¥5 i HET 0 0 0 0 1 2 0 2 1 1
2070 FxET—TH 3 2 4 3 4 1 3 5 2 3
2080 +RETZ_TH 4 4 6 0 6 3 2 4 7 2
2090 wy g ET 14 31 34 30 33 30 33 29 20 21
2100 HibHET 6 2 6 5 8 5 2 3 1 3
2110 HEMNETET—T B 3 3 4 3 1 4 3 5 5 5
2120 HEWIETET—T B 6 9 8 5 8 6 4 9 3 3
9999 E B XET 54 72 79 60 82 67 62 77 62 60
2510 $AUEHET 43 53 59 55 62 77 51 56 65 43
2520 sKEEHT 35 35 30 38 29 25 33 34 24 28
2530 = /INERET 7 6 6 6 9 7 6 6 10 6
2540 Fi5HET 5 6 2 5 5 5 3 5 6 5
2550 ;HET 8 6 6 3 0 2 2 4 0 5
2560 = ST 8 19 24 16 23 20 16 15 14 25
2570 K EHT 2 3 0 0 3 1 6 1 2 0
9999 MAE X5 108 128 127 123 131 137 117 121 121 112
3010 KATHT 15 14 19 22 22 13 19 26 11 17
3020 ;@I HT 13 15 17 13 18 15 18 19 20 19
3030 L EFET 13 18 18 14 13 21 11 19 13 18
3040 B _EAT 1 2 2 0 0 3 1 2 2 3
3050 wy BRI A AT 45 47 44 54 44 57 51 40 52 46
3060 A ESTET 6 7 5 6 9 8 7 6 6 5
3070 tHBREHT 8 6 9 6 4 9 9 8 9 5
3080 H AT 9 20 15 11 7 13 8 5 12 4
3090 FH R ERAT 9 13 11 13 9 9 7 11 8 6
3100 H A FEHET 6 8 7 8 6 10 7 9 5 4
3110 HepiLET 10 1 7 8 4 11 3 8 4 7
9999 J\ T X &t 135 151 154 155 136 169 141 153 142 134
3510 £ R _EHT 4 0 2 0 2 1 0 1 4 2
3520 2R A HT 4 5 6 4 5 5 6 5 7 6
3530 2R THT 27 14 23 18 9 14 23 9 13 14
3540 Z= B KHT 5 5 6 8 2 8 8 5 6 7
3550 AEFHT 10 14 14 10 9 17 11 12 14 10
3560 &= T ERAT 7 2 3 2 4 3 5 6 6 2
3570 = T AT 11 6 9 10 12 17 7 8 11 16
3580 FLIFTHT 7 8 6 7 4 14 12 6 5 9
3590 ;EMT 0 0 0 0 0 0 0 0 0 0
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9999 S HKXET 75 54 69 59 47 79 72 52 66 66
4010 B QET 3 13 5 4 8 7
4020 {ESHT 1 1 0 1 2 0
4030 15HET 3 3 5 2
4040 S HEAHT 5 4 3 2
4050 7K EHT 1 9 6 7 14
4060 ESZ HAT 10 9 9 10
4070 Jt/RHET 4 1 0 1
4080 =;I;HAMT 1 3 3 3
4090 FRERHT 6 8 2 8
4100 g FEFNHET 1 1 1 0
4110 JbFFOET 1 5 0 3
9999 &M XEtT 3 5 4 45 4 4 4 45 40 50
4510 EREE—ZEHT 1 1 1 1 1 1 12
4520 EREE — ZFEHT 6
4530 AREE=ZKHT 2
4540 EREEIUZEHET 1
4550 EREEFH ZHKHT 6
4560 EREE/NFEHET 1
4570 EREE-HZHET 6
4580 AREE/\FHET 3
4590 EREE N ZEHT 0
4600 AR EE+ZEHT 1
4610 AREE+—ZBHT 3
4620 AR+ —FFHET 5

9999 ARERXET 2
5010 FAF0H HEHET

5020 RRF0BAELET

5030 RRF0R]{—HET

9999 RRFIMXET

5510 &) R ET

5520 = HhET 1
5530 74 '= M7

5540 wy ZEHET

5550 ERHT

9999 E it X &t 2
6010 FEIHET/MER

6020 [EHT &

6030 [ERTA I

6040 iz FHET

6050 JI| AETE

6060 JI| BT FE

9999 FEERXET 1
6510 HZEAFBHET

6520 HZ A KIEHT

6530 B ZE AFHHET

6540 BZEALLUTHT

6550 B =AM Z NET

6560 HZ&=ALGILHT

6570 H R AIEFHT

6580 B ZAEHRT

6590 HZ= ATHET

6600 B Z A HHT

6610 H&XA L FHHET
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KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
[R5.5.31IRE 1ITEHET & (K=F) Al F oA A O HFR (S5

THET(KF)2—F {THET(KF)E 40 418 42 43 44m% 45  46i% 47mk 48 49

9220 $RETHH 6 8 13 7 19 11 14 18 12 10
9230 SxET &M 15 6 21 17 24 15 15 7 11 15
9240 SEETIE K 5 4 6 4 5 7 7 6 6 2
9250 $EETILHrith 19 24 14 9 13 14 11 11 8 9
9999 fERIX &t 164 146 170 159 167 162 163 151 167 165
9310 R[FHET:AR 1 1 1 3 6 3 5 1 6 3
9320 E[5HETIL 3 3 6 5 2 5 0 5 6 7
9330 H[SHET/INE 3 1 3 3 0 2 2 3 4 3
9340 H[5HETREY 11 5 3 11 5 9 4 6 8 5
9999 H[G#XEt 18 10 13 22 13 19 11 15 24 18
9410 RET T & 8 4 4 4 9 3 13 7 11 5
9420 RHETHE 2 2 4 3 0 1 2 2 1 2
9430 RHETERK 2 0 0 0 0 1 2 1 1 2
9440 RETAEF 0 0 0 0 0 0 0 0 0 0
9450 RETHEIR 0 0 0 0 0 0 0 1 0 0
9460 RET{—_HE 0 0 1 0 1 0 0 0 2 0
9470 RETER 0 0 0 1 0 0 0 0 0 0
9480 RHETHER 1 0 2 1 0 1 0 1 0 1
9999 RKXEt 13 6 11 9 10 6 17 12 15 10
99999 H&Et 1333 1400 1311 1348 1410 1455 1436 1536 1550 1576



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
[R5.5.31IRE 1ITEHET & (K=F) Al F oA A O HFR (S5

THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

10 tHHT 2 0 3 7 8 1 6 6 5 5
20 fE&LET 3 5 5 4 3 5 2 4 6 1
30 @M 5 2 9 10 2 4 2 4 3 6
40 SRET 3 3 3 1 2 4 0 3 0 0
50 KET—T B 9 7 9 12 6 6 4 2 3 7
60 KET=TH 6 5 10 5 9 4 3 3 3 3
70 KET=TH 9 8 7 15 9 13 7 10 14 7
80 AT IEHET 2 3 3 2 4 2 2 4 4 2
90 PN I ET 1 1 1 6 4 2 7 9 3 4
100 b ALET 4 4 5 4 6 1 3 2 3 4
110 ¥ THT 39 38 35 30 31 47 33 23 41 26
120 ¥A;TAHT 8 7 8 4 6 4 5 7 1 6
130 #&FHT 16 13 13 12 9 10 6 13 1 11
140 EH[E M7 0 0 0 0 1 0 0 0 0 0
150 1 FFrHET 11 14 10 7 7 8 9 10 12 8
9999 KB XEt 118 110 121 119 107 111 89 100 109 90
510 AETHT B 9 6 12 11 10 5 8 8 5 9
520 HpEEMT 5 6 4 5 3 0 3 2 1 0
530 J\It&HET 3 5 4 1 3 2 4 6 5 4
540 15 EHT 21 11 10 9 11 19 17 9 19 12
550 FithET 14 11 17 10 10 16 5 11 14 11
560 = ZLHT 2 1 1 3 2 2 3 2 1 4
570 & EHT 4 3 0 1 2 0 0 2 1 3
580 HrhHET 2 6 4 0 1 1 3 5 5 1
590 FriEMT 1 0 1 3 2 2 1 0 0 1
600 ZEARET 10 17 14 13 15 13 12 17 16 12
610 JEHT 6 5 1 1 4 3 0 3 6 3
630 ¥TERTZTH 0 0 1 0 1 1 0 0 0 0
9999 /\ KX &t 77 71 69 57 64 64 56 65 73 60
1010 R HT 9 4 3 7 12 5 5 4 6 9
1020 £ FHET 7 9 11 6 9 6 7 5 10 7
1030 H1 FrHT 14 4 7 1 7 7 9 3 5 7
1040 75 T HT 13 8 14 8 11 10 13 12 11 17
1050 £ FHHET 17 13 20 16 31 15 18 14 15 12
1060 F _EHT 16 17 20 16 14 11 17 12 22 16
1070 YR HET 13 16 20 18 15 14 22 13 16 8
1080 & HHET 8 19 12 11 22 15 11 9 13 19
1090 BiEHT 10 10 13 17 13 16 16 19 12 10
1100 L BEHT 17 14 17 12 11 10 14 11 14 9
1110 $Z1EHET 2 5 5 4 4 3 1 0 1 5
1120 #21E JTHT 2 2 1 1 3 0 1 0 2 2
1130 +5:HT 0 2 0 0 0 1 0 0 0 0
1140 FkJRET 0 2 0 1 1 0 0 0 0 1
1150 #JRET—TH 1 3 6 2 6 2 8 5 8 0
1160 #/RET—T B 11 5 4 8 6 3 8 5 5 10
1170 ;5 /KHET 6 0 6 4 8 5 3 2 10 3
1180 & ALET 5 4 4 7 7 5 4 5 7 4
1190 ¥ F AHET 1 2 8 5 2 7 7 1 3 4
1200 XFHEI—TH 3 6 3 5 1 6 2 4 6 0
1210 XFHEIZTH 3 3 2 4 1 3 5 4 6 5
1220 #THET 7 4 3 5 4 4 4 4 6 5
1230 #EHET 1 5 1 3 7 7 4 3 8 7
1240 ZEHT 3 2 3 5 2 2 3 4 1 2
1250 fEERT 6 6 2 2 5 4 6 1 2 6



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
[R5.5.31IRE 1ITEHET & (K=F) Al F oA A O HFR (S5

THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

1260 fEH & 0 1 1 0 1 0 0 1 0 2
1270 EEHT 1 5 2 2 0 3 3 1 2 3
1280 ARAHET 7 11 2 3 4 6 1 2 5 6
1290 £RHT 5 3 6 4 5 6 2 6 7 5
1300 % ZEHT 1 2 4 2 3 3 0 5 5 4
1310 RJLHT 0 5 2 0 4 3 4 2 0 2
9999 XHEMX &t 189 192 202 179 219 182 198 157 208 190
1510 #EHN BT 16 21 14 20 1 17 14 23 22 19
1520 HEHITET 13 20 21 16 15 23 15 19 16 11
1530 HEHNSTHT 12 11 4 2 7 9 10 4 11 11
1540 K123FHT 18 10 11 15 20 11 13 11 8 22
9999 HEMNI X ET 59 62 50 53 53 60 52 57 57 63
2010 EE&HT 3 3 8 7 6 8 7 3 4 6
2020 % &7 9 10 10 6 6 9 8 8 4 4
2030 ET 1 0 0 0 1 0 0 0 0 0
2040 HMEBET—T B 8 4 10 9 8 4 2 7 10 6
2050 BETZ=THB 6 2 6 6 2 8 8 4 8 3
2060 ¥5 i HET 1 0 0 1 1 0 0 1 1 0
2070 +RET—TH 7 8 10 4 8 6 2 7 6 9
2080 +RETZ_TH 5 8 2 7 3 7 8 2 5 5
2090 wy g ET 45 42 46 32 39 34 37 31 41 33
2100 HibHET 4 5 6 9 5 6 3 5 3 6
2110 HEMNETET—T B 6 8 5 4 10 10 5 10 9 10
2120 HEWNEETZTH 4 6 18 9 5 6 3 7 11 7
9999 = B XEt 99 96 121 94 94 98 83 85 102 89
2510 $AUEHET 51 68 66 46 51 51 55 36 55 48
2520 SKEEHT 44 32 41 32 51 49 35 36 41 35
2530 = /INERET 11 13 10 16 13 11 12 14 5 10
2540 Fi5HET 12 8 12 11 15 9 7 12 15 9
2550 ;HET 4 4 5 2 4 7 13 8 5 5
2560 = ST 24 28 25 21 20 29 16 31 27 21
2570 K EHT 1 1 1 2 1 2 1 0 1 1
9999 MAE X5 147 154 160 130 155 158 139 137 149 129
3010 KATHT 31 21 18 33 18 23 26 22 21 20
3020 ;@I HT 25 35 29 26 22 39 22 25 24 24
3030 L EFET 27 35 26 24 19 23 29 22 26 27
3040 B _EAT 4 1 9 3 7 7 7 2 1 6
3050 wy BRI A AT 56 55 55 46 60 70 52 61 73 44
3060 HEATHT 12 11 11 15 14 11 11 20 12 10
3070 tHBREHT 10 10 8 15 16 11 12 14 15 11
3080 H AT 15 12 14 5 15 8 6 9 11 10
3090 FH R ERAT 9 10 10 14 7 8 12 5 9 7
3100 H A FHHET 19 15 16 10 9 16 17 12 10 16
3110 HepiLET 13 5 12 11 9 13 7 11 16 11
9999 J\ T X &t 221 210 208 202 196 229 201 203 218 186
3510 £ R _EHT 7 1 1 3 1 5 6 4 9 14
3520 2 R AT 1 8 12 11 9 14 2 14 6 9
3530 2R THT 28 36 36 29 27 17 21 22 21 29
3540 Z= B KHT 13 13 9 8 9 13 9 6 18 7
3550 AEFHT 24 14 15 14 16 19 27 22 15 21
3560 &= T ERAT 11 8 3 9 5 6 7 9 1 3
3570 = T AT 20 23 22 26 11 31 23 17 16 17
3580 LI HET 16 20 11 14 17 8 16 14 13 18

3590 EMT 1 0 1 0 0 0 0 0 1 1
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[R5.5.31IRE 1ITEHET & (K=F) Al F oA A O HFR (S5

THRET (KF)3—F {THRET(KF)%& 50
9999 S HKXET 131
4010 41| NET 9
4020 {ESHT
4030 15HT
4040 = HEAHT
4050 7K SHT 1
4060 EZZ HHET
4070 Jt/RHET
4080 =;T;HAMT
4090 FR KT
4100 g F0HT
4110 JbFFn@T
9999 &M XEtT
4510 EREE—ZEHT
4520 AREE— ZEHT
4530 AREE=ZHT
4540 EREEIUZEHET
4550 EREE FZEHT
4560 EREE/NFEHET
4570 EREE-HZHET
4580 AREE/\FHET
4590 EREE N ZEHT
4600 AR EE+ZEHT
4610 AREE+—ZBHT
4620 EREE+ —ZHHET
9999 ARERXET 5
5010 FAF0H HEHET
5020 FAF0BAEET
5030 RRF0R]{—HET
9999 AN XET 1
5510 b R ET
5520 = Hh T
5530 74 '= M7
5540 dy ZRT
5550 ERHT
9999 = kX 5t 3
6010 FEIHET/MER
6020 [ZHT
6030 [ERTA I
6040 Bz FHT
6050 JI| AETE
6060 JI| BT FE
9999 FEERXET 2
6510 HZEAFBHET
6520 HZ A KIEHT
6530 B ZE AFHHET
6540 BZEALLUTHT
6550 B =AM Z NET
6560 HZ&=ALGILHT
6570 H R AIEFHT
6580 B ZAEHRT
6590 HZ= ATHET
6600 B Z A HHT
6610 H&XA L FHHET
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KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
[R5.5.31IRE 1ITEHET & (K=F) Al F oA A O HFR (S5

TRET (K a—FK THRET(KF)& 50 51 52 53mk 54k 55 56 57 58 59
6620 HZE A FGHET
6630 HER AT FHHT
6640 B &= A EitlT
6650 HZASHET
6660 HZ=A I RLET

9999 HEARKKET 2 2 2 2 3 2 2 3 2 3
7010 Z B MO HT
7020 — ELAHT

7030 — R FR#AET
7040 — B T KEFHT
7050 — R ¥7 H I ET
9999 — R&XET 1
8011 JRAHTFEERL
8012 YAHTFEERA
8013 IR AHTFERIL
8021 YRAHTZEKLY
8022 IR AHTIEKA
8023 R AHTZEKIE
8031 IRAHTH ALY
8032 {AETHAA
8033 IRAHTH AL
8041 IR AHTELIRL
8042 R AHTELIRA
8043 IR AHTELIR L
8044 IR AHTELIRIZ
8045 IR AHTALIR (X
8050 IR AHT A
8060 IR AHTFT
8070 RAHETER
8080 I AHT ki
8090 I AHT i E
8100 Y AHETH /IR
8110 3RAHTJI| 5k
8120 IR AHETEE"
8130 JRAHTH L
8140 IRABTEFRT
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9999 AKX ET 14 22 23 20 24 24 27 35 34 25
9010 FTHTKZEH 16 13 12 21 10 13 12 13 22 14
9020 FTHTEF IR 16 5 13 9 16 9 9 6 9 14
9030 FTHT#HZEH 36 38 25 25 31 23 29 20 29 33
9040 F THTHERH 32 49 27 45 34 40 35 30 36 45
9999 FTHXET 100 105 77 100 91 85 85 69 96 106
9110 SRET T Hik 10 13 20 16 18 15 10 14 8 17
9120 $ERTH L 4 5 3 4 3 6 7 9 10 8
9130 $RETH B 3 1 5 3 4 3 6 6 2 1
9140 $RAT T4t 12 6 14 9 6 8 11 6 13 8
9150 $BHT L 45 12 14 12 10 12 17 15 9 8 7
9160 SRHETER4T 19 20 16 14 15 21 27 20 20 21
9170 $ERTAH 18 20 19 31 15 18 18 27 24 24
9180 SRETER 12 9 11 15 13 9 18 14 17 14
9190 #ERTZ O 5 5 4 5 2 2 8 7 2 2
9200 $EHTEFIF 3 5 1 3 6 5 4 10 4 4

9210 $EET=H 1 15 7 9
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KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
[R5.5.31IRE 1ITEHET & (K=F) Al F oA A O HFR (S5

THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

9220 SEMETHH 15 15 11 8 17 16 15 8 20 15
9230 SxET &M 18 20 9 14 14 13 16 17 14 21
9240 $EHETIE R 5 3 2 9 7 7 8 4 9 10
9250 $EETILHrith 16 7 15 10 13 13 8 9 12 19
9999 fERIX &t 163 158 149 160 157 168 183 170 166 179
9310 R[FHET:AR 2 9 2 1 3 2 5 5 4 3
9320 FFHATIL 5 4 5 8 4 3 7 6 8 8
9330 H[SHET/INE 2 2 0 3 3 5 0 4 4 6
9340 R [ZHTRY 6 6 6 8 5 10 13 10 19 10
9999 H[G#XEt 15 21 13 20 15 20 25 25 35 27
9410 RET T & 2 9 4 6 7 7 12 9 14 7
9420 RHETHE 5 2 5 6 5 3 4 4 3 5
9430 RHETERK 0 3 3 4 0 7 5 3 2 4
9440 RETAEF 0 0 0 0 0 1 0 1 0 0
9450 RETHEIR 0 0 0 0 0 0 0 0 2 0
9460 RET{—_HE 1 0 1 0 0 0 1 2 0 0
9470 RETER 0 0 0 0 0 0 0 0 0 1
9480 RHETHER 3 3 2 1 2 0 0 1 4 2
9999 RKXEt 11 17 15 17 14 18 22 20 25 19

99999 & &t 1564 1540 1533 1477 1493 1582 1484 1439 1596 1530



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
[R5.5.31IRE 1ITEHET & (K=F) Al F oA A O HFR (S5

TRET (K a—F THRET(KF)®& 60 61/ 62/ 63/ 64 65i% 66 67i 68 69
10 HAT
20 [ d-HT
30 @M
40 LRHET
50 KET—T B
60 RET_TH
70 RET=TH
80 AT IR AT
90 FEHATIRAT
100 b ALET
110 #¥3;THT
120 #A;TAHET
130 t&FHT
140 HEAE BT
150 1 FFrHET
9999 KER X &t
510 AETHT B
520 4L EEMT
530 J\It&HET
540 15 EHT
550 FithET
560 = ZEHT
570 EEHT
580 ¥TREAET
590 FriEMT
600 ZERHET
610 FHT
630 FERT T B
9999 /\ & X5t
1010 S HET
1020 £ A HT 8
1030 H1 FrHT 12
1040 &5 HT 18
1050 = HHET 19
1060 F _EHT 13
1070 7R ET 12
1080 = HHET 15
1090 BHEHT 15
1100 £ B &HT 11
1110 $Z1EHET 4
1120 #21E JTHT
1130 +5&HT
1140 FkJRET
1150 F/RET—T B
1160 #/RET—T B
1170 ;5 /KHET
1180 & ALET
1190 #&F AHT
1200 XFHEI—TH
1210 XFHEIZTH
1220 FHET
1230 #EHET
1240 ZEHT
1250 fEERT
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KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
[R5.5.31IRE 1ITEHET & (K=F) Al F oA A O HFR (S5

THET(KF)a—K {TEET (K=FE)® 603 6173 623 63/ 645 65/ 66F 67/ 68F 69

1260 JEHR & 2 0 0 1 3 1 5 1 3 1
1270 EEHT 4 6 3 5 1 4 4 4 3 2
1280 ARAHET 4 6 0 2 2 3 2 5 7 5
1290 £RHT 0 5 3 4 4 7 4 5 9 1
1300 % ZEHT 6 1 4 4 4 0 1 4 3 1
1310 RJLHT 4 7 3 5 4 5 0 5 4 0
9999 XHEMX &t 201 230 189 217 215 197 202 209 230 186
1510 #EHN BT 13 16 13 19 20 28 12 21 22 25
1520 }EHD T ET 15 19 23 22 17 16 23 20 28 21
1530 HEHNSTHT 7 5 7 9 14 11 12 7 12 9
1540 K123FHT 1 7 16 16 1 28 13 17 20 24
9999 HEMNI X ET 46 47 59 66 62 83 60 65 82 79
2010 £ E AT 1 3 7 6 3 0 3 8 2 3
2020 % &7 4 8 6 5 10 4 8 4 9 6
2030 ET 1 0 0 0 1 3 4 1 1 0
2040 JET—TH 6 4 4 4 5 6 6 4 3 3
2050 BETZ=THB 1 2 6 4 1 5 2 6 6 5
2060 ¥5 i HET 1 2 0 2 2 2 2 2 2 3
2070 +RET—TH 4 4 11 7 10 7 6 9 7 6
2080 +RETZ_TH 2 5 10 2 4 3 6 6 6 5
2090 wy g ET 33 46 47 38 44 42 63 55 57 58
2100 HibHET 5 6 4 6 7 4 2 10 11 8
2110 HEMNETET—T B 12 5 7 4 7 2 5 6 9 7
2120 HEWIETET—T B 9 6 2 5 13 11 7 11 10 12
9999 = B XEt 79 91 104 83 107 89 114 122 123 116
2510 $AUEHET 45 61 60 48 62 53 48 45 49 53
2520 SKEEHT 34 30 32 42 45 43 40 36 29 43
2530 = /INERET 10 15 13 14 10 8 9 13 13 11
2540 Fi5HET 16 16 12 12 9 16 12 10 13 16
2550 ;HET 5 4 4 9 9 10 6 14 6 6
2560 = ST 18 14 19 14 37 19 28 23 34 25
2570 K EHT 0 0 2 2 3 3 1 0 3 0
9999 MAE X5 128 140 142 141 175 152 144 141 147 154
3010 KATHT 29 19 30 23 27 16 21 23 31 24
3020 ;@I HT 24 26 16 26 23 20 24 23 24 26
3030 L EFET 16 23 19 23 16 23 27 17 26 22
3040 B _EAT 2 2 2 5 4 4 2 9 2 5
3050 wy BRI A AT 60 50 71 62 51 57 60 53 67 49
3060 HEATHT 16 8 12 18 19 15 9 13 17 7
3070 tHBREHT 9 7 7 17 13 10 19 16 14 11
3080 H AT 10 8 12 10 9 8 3 6 12 7
3090 FH R ERAT 7 14 10 9 7 5 12 4 7 6
3100 H A FHHET 15 10 10 9 13 9 16 13 12 17
3110 HepiLET 13 10 16 17 18 11 9 17 8 14
9999 J\ T X &t 201 177 205 219 200 178 202 194 220 188
3510 £ R _EHT 8 3 7 9 8 2 3 4 4 7
3520 2 R AT 7 10 8 13 9 10 11 7 15 15
3530 2R THT 32 36 21 26 30 29 34 29 26 28
3540 Z= B KHT 8 17 15 10 7 7 15 6 10 10
3550 AEFHT 18 20 33 19 32 28 19 35 24 32
3560 &= T ERAT 6 9 14 8 7 9 11 18 17 12
3570 = T AT 13 19 14 14 23 21 27 22 21 25
3580 LI HET 8 20 10 14 13 15 15 16 18 18

3590 EMT 0 0 1 0 0 0 0 0 0 1
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[R5.5.31IRE 1ITEHET & (K=F) Al F oA A O HFR (S5

THET(KF)a—K {TEET (K=FE)® 603 6173 623 63/ 645 65/ 66F 67/ 68F 69

9999 S HKXET 100 134 123 113 129 121 135 137 135 148
4010 41| NET 9 7 8 4 11 10 9 7 8 8
4020 fESHT 0 4 2 0 1 4 3 3 1 1
4030 i5HT 8 9 7 7 5 8 8 5 7 7
4040 S HEAHT 8 1 9 5 4 3 5 9 4 8
4050 7K SHT 17 15 14 13 9 13 10 10 18 17
4060 ES 4 HHET 4 7 2 6 6 7 6 11 10 10
4070 Jt/RHET 8 9 6 2 5 11 7 4 3 2
4080 =;I;HAMT 6 6 5 5 8 6 12 9 6 5
4090 FR KT 5 10 8 11 12 9 11 6 8 13
4100 g FEFNHET 1 2 7 7 8 2 14 15 12 8
4110 JbFFOET 3 3 7 6 12 13 8 12 12 7
9999 &M XEtT 69 73 75 66 81 86 93 91 89 86
4510 EREE—ZEHT 17 20 25 22 20 19 21 24 32 26
4520 EREE — ZFEHT 5 3 3 3 7 2 6 8 3 7
4530 EREE=FKHT 4 9 6 4 6 6 4 5 5 4
4540 EREEIUZEHET 4 3 4 6 5 3 5 3 8 2
4550 AREE R HHET 3 4 1 1 2 1 3 5 4 3
4560 EREE/NFEHET 0 3 4 2 4 1 3 1 5 1
4570 EREE-C AT 2 4 4 5 1 5 3 0 2 2
4580 AREE/\FHET 0 0 1 3 4 4 3 2 3 2
4590 BEREE N ZEHT 0 3 0 3 2 3 4 6 5 3
4600 AR EE+ZEHT 5 3 2 8 0 3 2 3 3 5
4610 EREE+—ZHHT 3 5 5 2 2 1 3 6 2 5
4620 AR+ —FFHET 6 4 6 9 5 4 1 5 6 11
9999 ARERXET 49 61 61 68 58 52 58 68 78 71
5010 FAF0H HERT 6 8 2 10 4 1 5 3 5 6
5020 FRFNBHELET 4 4 7 3 3 2 1 6 8 1
5030 RRF0R]{—HET 9 10 4 9 8 3 4 5 5 7
9999 AN XET 19 22 13 22 15 6 10 14 18 14
5510 &) R ET 13 6 8 5 5 8 5 6 9 15
5520 = HhET 18 10 12 20 15 14 22 15 19 13
5530 74 '= M7 11 12 8 17 15 15 9 14 11 13
5540 T EERT 8 10 8 7 9 5 3 12 8 16
5550 ERHT 0 3 2 5 1 6 3 0 4 4
9999 EHhARX &t 50 41 38 54 45 48 42 47 51 61
6010 FEIHET/MER 3 5 0 4 3 1 0 1 6 6
6020 [EHET o 2 3 7 5 5 3 6 4 2 5
6030 [ERTA I 2 3 4 4 2 7 6 3 6 6
6040 BZEFHET 6 3 11 6 8 6 5 11 10 9
6050 JI|EBTE 7 7 4 3 10 6 4 8 5 5
6060 JI|EHETF 0 0 2 3 3 3 5 3 7 9
9999 FEERXET 20 21 28 25 31 26 26 30 36 40
6510 HZEAFBHET 1 0 2 2 0 2 2 0 2 0
6520 B & A KIEHET 4 6 1 6 4 5 7 6 11 11
6530 HZEAFTHET 6 4 2 2 9 3 3 4 6 9
6540 HZEAILUTHT 5 0 3 2 4 1 2 6 12 3
6550 B =AM Z NET 1 3 3 2 3 1 1 3 10 1
6560 B ZALEdLHT 0 2 3 1 4 0 2 6 5 4
6570 H R AIEFHT 1 4 6 2 4 2 2 6 5 2
6580 HZAEHET 2 2 4 4 4 3 3 1 7 8
6590 HZ= ATHET 3 1 1 1 0 3 2 2 0 2
6600 B Z A HHT 1 2 1 2 1 3 3 4 4 3
6610 H&XA L FHHET 0 2 1 2 1 1 0 1 1 5
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7030 — R FR#AET
7040 — B T KEFHT
7050 — R ¥7 H I ET
9999 — R&XET 2
8011 JRAHTFEERL
8012 YAHTFEERA
8013 IR AHTFERIL
8021 YRAHTZEKLY
8022 IR AHTIEKA
8023 R AHTZEKIE
8031 IRAHTH ALY
8032 {AETHAA
8033 IRAHTH AL
8041 IR AHTELIRL
8042 R AHTELIRA
8043 IR AHTELIR L
8044 IR AHTELIRIZ
8045 IR AHTALIR (X
8050 IR AHT A
8060 IR AHTFT
8070 RAHETER
8080 I AHT ki
8090 I AHT i E
8100 Y AHETH /IR
8110 3RAHTJI| 5k
8120 IR AHETEE"
8130 JRAHTH L
8140 IRABTEFRT
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6620 HZE A FGHET 1 3
6630 HZEA T AT 4 2
6640 B &= A EitlT 0 2
6650 HZASHET 0 0
6660 HZ=A I RLET 0 0
9999 HEAKRKXET 2 2 3 3 3 2 3 44 70 5
7010 Z RMOET 8
7020 — R A<HT 1 11
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8150 IRAHTHFkK L 3 4 2

9999 AKX ET 35 36 45 53 46 59 49 50 59 54
9010 FTHTKZEH 18 22 14 12 23 25 17 23 18 17
9020 FTHTEF IR 9 9 13 6 15 6 8 8 14 14
9030 FTHT#HZEH 24 27 35 32 31 35 29 35 44 39
9040 F THTHERH 28 33 40 42 46 38 38 30 35 39
9999 FTHXET 79 91 102 92 115 104 92 96 111 109
9110 SRET T Hik 19 12 8 8 10 14 17 13 13 13
9120 $ERTH L 4 5 3 3 6 6 1 10 12 8
9130 $RETH B 8 5 7 3 7 4 5 4 8 4
9140 SRET T+t 12 16 17 15 10 23 12 15 13 7
9150 $BHT L 45 7 18 17 18 13 11 12 14 14 16
9160 SRHETER4T 16 13 22 15 21 15 19 20 22 16
9170 $ERTAH 22 29 26 34 22 24 23 24 27 17
9180 SRETER 16 17 12 14 24 17 21 18 27 12
9190 #ERTZ O 2 3 8 1 7 7 8 11 10 9
9200 $EHTEFIF 6 12 14 5 7 12 8 8 2 7

9210 $EET=H 7 3 22 13 10 10
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15 14



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
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9220 $HT M H
9230 SxET &M
9240 $RHETIEE
9250 $EETILHrith
9999 FFXXET
9310 R[FHET:AR
9320 R[ZHATIL
9330 R[ZHET/INE
9340 H[IZHTRY
9999 RGHXET
9410 RETT &
9420 RHETHE
9430 RHETERK
9440 RETAEF
9450 RETHEIR
9460 RET{—_HE
9470 RETER
9480 RHETHER
9999 RiXXEt
99999 &t
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17
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17
20
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33
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14 14
19 24

3 8
11 16
180 218
9 13
9 5
5 3
14 8
37 29
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7 8
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1 0

0 0
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1 0
27 26
1625 1671
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12 12
27 22
10 8
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29 35
7 13
5 4
5 1
0 0
0 2
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0 0
1 2
19 22
1673 1773
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13 15
19 18
12 4
23 17

210 190
11 7
14 7

5 7
9 15
39 36
18 14
10 8
3 7
1 1
0 0
1 2
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0 1
33 33
1665 1729

677 68i%
21 13
20 22
12 9
18 19

216 226
10 8
13 7

7 10
17 19
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10 10
4 10
2 7
1 1
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0 1
20 34
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[R5.5.31IRE 1ITEHET & (K=F) Al F oA A O HFR (S5

TRET(KF)a—K {TEET(KFE)L 705 71% 72 73 74% 75 716k 71 718 79

10 tHHT 3 10 4 5 7 2 4 1 0 0
20 fE&LET 6 6 8 8 2 2 2 3 4 2
30 @M 4 7 5 9 10 10 7 5 6 4
40 SRET 4 1 6 3 7 5 5 2 7 1
50 KET—T B 9 14 9 17 9 14 15 6 7 8
60 AET—TH 6 5 8 2 16 4 3 4 4 7
70 AET=TH 11 2 12 11 9 9 4 6 5 6
80 AT IEHET 1 1 3 2 3 2 2 4 3 1
90 PN I ET 2 5 4 11 10 10 8 2 13 6
100 b ALET 3 6 4 4 4 5 3 3 4 2
110 ¥ THT 42 27 24 45 36 28 29 21 15 18
120 ¥A;TAHT 7 4 4 6 3 6 3 3 4 1
130 #&FHT 9 15 16 11 12 8 12 5 15 14
140 EL[EHT 0 0 0 0 0 0 0 0 0 0
150 1 FFrHET 8 14 10 7 2 11 3 6 4 8
9999 KB XEt 115 117 117 141 130 116 100 71 91 78
510 AETHT B 12 24 14 15 7 18 15 6 11 6
520 HpEEMT 1 4 6 2 4 5 4 0 2 4
530 J\It&HET 3 8 8 4 12 5 6 3 7 6
540 15 EHT 12 6 12 10 13 18 9 9 2 8
550 FithET 8 13 5 8 13 10 8 6 7 4
560 = ZLHT 3 1 1 2 1 1 0 0 1 2
570 EEHT 1 3 2 1 2 3 1 2 1 1
580 #rBHET 3 12 8 3 1 2 2 8 7 7
590 FriEMT 3 4 2 3 3 1 4 1 2 2
600 ZEARET 26 32 19 18 23 16 7 9 9 9
610 FHT 5 6 5 8 8 3 5 2 6 3
630 ¥TERTZTH 0 0 0 0 0 0 0 0 0 0
9999 J\ (K& XEt 77 113 82 74 87 82 61 46 55 52
1010 R HT 2 2 12 7 10 3 12 1 3 2
1020 Lt K HT 9 7 10 12 12 15 9 2 9 6
1030 H1 FrHT 10 4 10 7 9 7 7 4 5 6
1040 75 T HT 13 14 15 15 15 13 12 5 9 10
1050 £ FHHET 19 15 14 22 27 11 17 5 11 11
1060 F _EHT 6 9 17 16 13 14 10 7 5 11
1070 YR HET 13 11 17 16 15 16 15 13 8 17
1080 & HHET 12 6 9 8 9 6 10 6 9 7
1090 BiEHT 30 26 19 27 19 12 10 15 9 14
1100 L BEHT 22 10 21 17 18 24 14 6 12 15
1110 $Z1EHET 1 2 2 5 4 2 2 3 3 6
1120 #21E JTHT 4 0 3 4 2 3 2 3 1 2
1130 +5:HT 1 0 1 2 2 2 0 0 0 3
1140 FkJR=HET 0 2 0 0 0 0 1 0 2 2
1150 #JRET—TH 5 2 9 9 10 4 5 5 3 4
1160 #/RET—T B 7 3 9 7 14 8 7 1 2 4
1170 ;5 /KHET 3 4 6 5 4 7 0 2 4 2
1180 & ALET 6 5 8 14 7 4 6 11 7 5
1190 ¥ F AHET 9 7 3 10 11 6 7 2 7 6
1200 XFHEI—TH 7 4 3 5 3 5 2 1 4 1
1210 XFHEIZTH 6 7 9 7 9 7 4 0 3 5
1220 #THET 4 4 2 2 6 11 8 3 3 4
1230 #EHET 5 3 3 12 4 5 4 6 4 4
1240 ZEHT 2 4 2 4 8 2 3 3 4 3
1250 fEERT 2 2 1 3 5 9 3 0 2 4



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
[R5.5.31IRE 1ITEHET & (K=F) Al F oA A O HFR (S5

TRET(KF)a—K {TEET(KFE)L 705 71% 72 73 74% 75 716k 71 718 79

1260 B & 0 1 0 2 4 0 0 3 2 1
1270 EEHT 6 4 2 4 4 2 3 3 3 1
1280 ARAHET 6 5 7 4 6 5 4 2 2 2
1290 £RHT 7 3 3 3 9 6 6 2 6 5
1300 % ZEHT 2 3 5 2 6 6 2 2 4 3
1310 RJLHT 1 1 2 0 2 4 2 1 2 5
9999 XHEMX &t 220 170 224 251 267 219 187 117 148 171
1510 #EHN BT 17 12 25 22 19 23 18 10 17 22
1520 HEHITET 24 19 35 29 26 32 22 15 19 16
1530 HEHNSTHT 9 8 9 7 10 16 13 8 8 14
1540 K123FHT 19 19 15 12 21 20 21 7 15 7
9999 HEMNI X ET 69 58 84 70 76 91 74 40 59 59
2010 = S5 HET 4 1 5 4 13 10 6 2 4 6
2020 % &7 6 5 5 4 2 9 5 2 3 5
2030 ET 0 0 1 3 6 1 1 0 0 0
2040 JET—TH 3 7 9 6 8 8 9 4 6 3
2050 ;MET=T H 9 4 6 8 5 7 12 5 7 7
2060 ¥5 i HET 1 1 2 2 4 2 1 1 1 0
2070 +RET—TH 7 7 10 12 9 4 7 4 3 7
2080 +RETZ_TH 6 6 6 5 8 8 9 2 3 9
2090 AT 65 60 47 82 51 71 51 22 45 61
2100 HibHET 8 6 4 10 12 4 7 2 2 3
2110 HEMNETET—T B 13 10 11 5 13 5 8 5 3 4
2120 HEWIETET—T B 7 8 14 7 6 10 10 2 4 6
9999 = B XEt 129 115 120 148 137 139 126 51 81 111
2510 $AUEHET 52 57 57 65 70 69 48 29 37 54
2520 SKEEHT 33 33 37 41 43 37 25 15 19 15
2530 = /INERET 16 12 11 12 9 14 5 5 3 2
2540 Fi5HET 22 23 13 22 20 21 24 7 16 10
2550 ;HET 8 9 9 2 9 6 3 6 4 10
2560 = ST 21 33 34 38 38 30 35 17 21 25
2570 K EHT 5 4 4 5 8 4 3 1 0 3
9999 MAE X5 157 171 165 185 197 181 143 80 100 119
3010 KATHT 30 40 26 29 40 31 28 19 30 20
3020 ;@I HT 26 32 26 34 31 40 35 13 14 18
3030 L EFET 16 26 17 15 25 26 17 7 17 13
3040 B _EAT 7 7 0 3 4 4 4 2 4 3
3050 wy BRI A AT 54 46 59 72 68 58 53 19 36 38
3060 HEATHT 18 14 14 22 19 17 15 9 11 20
3070 tHBREHT 18 19 20 18 14 12 11 7 15 12
3080 H AT 5 7 12 12 15 11 8 6 4 7
3090 FH R ERAT 11 10 15 10 8 6 6 6 5 11
3100 H e FGHET 14 12 15 10 12 8 9 9 9 4
3110 HepiLET 12 18 17 15 22 20 14 5 13 13
9999 J\ T X &t 211 231 221 240 258 233 200 102 158 159
3510 £ R _EHT 9 5 9 8 10 7 7 0 2 8
3520 2 R AT 11 4 12 19 18 17 9 11 8 13
3530 2R THT 34 37 32 24 35 27 19 19 19 19
3540 Z= B KHT 14 11 16 17 16 14 12 12 4 6
3550 AEFHT 28 22 26 27 35 34 21 20 12 23
3560 &= T ERAT 12 8 10 10 11 8 9 8 4 6
3570 = T AT 34 23 35 35 34 33 21 22 20 22
3580 LI HET 7 15 20 20 26 18 17 7 10 9

3590 EMT 0 2 1 0 0 1 3 0 0 0
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[R5.5.31IRE 1ITEHET & (K=F) Al F oA A O HFR (S5

TRET(KF)a—K {TEET(KFE)L 705 71% 72 73 74% 75 716k 71 718 79

9999 S HKXET 149 127 161 160 185 159 118 99 79 106
4010 41| NET 9 11 18 16 18 15 15 10 14 13
4020 {ESHT 5 4 2 4 6 2 3 2 1 4
4030 i5HT 6 15 10 8 14 8 9 2 2 5
4040 S HEAHT 8 5 4 4 7 9 8 1 1 5
4050 7K SHT 15 17 22 14 17 13 15 4 5 11
4060 ESZ HAT 12 12 10 8 16 11 12 6 10 10
4070 Jt/RHET 5 4 3 3 10 7 7 2 3 4
4080 =;T;HAMT 9 11 8 9 4 6 7 3 5 5
4090 FR KT 11 12 9 8 13 12 11 9 7 4
4100 FgFEFOET 5 4 4 5 3 8 2 1 2 2
4110 JbFFOET 7 3 3 9 5 9 2 2 1 2
9999 &M XEtT 92 98 93 88 113 100 91 42 51 65
4510 EREE—ZEHT 23 29 30 28 25 24 24 8 22 25
4520 EREE — ZFEHT 10 8 7 9 4 3 4 2 5 4
4530 EREE=FKHT 7 9 5 6 7 7 1 1 1 5
4540 EREEIUZEHET 7 7 4 2 6 2 5 2 3 4
4550 AREE R HHET 2 3 2 0 4 0 3 2 5 1
4560 EREE/NFEHET 1 3 2 1 0 2 0 2 0 3
4570 EREE-C AT 3 6 1 6 7 9 10 0 4 0
4580 AREE/\FHET 3 6 5 3 10 1 3 3 1 0
4590 BEREE N ZEHT 3 3 7 3 3 2 2 2 1 4
4600 AR EE+ZEHT 2 1 0 1 2 2 1 0 2 2
4610 EREE+—ZHHT 6 3 2 3 5 3 1 4 0 2
4620 AR+ —FFHET 6 7 7 9 6 7 10 3 4 3
9999 ARERXET 73 85 72 71 79 62 64 29 48 53
5010 FAF0H HERT 12 6 4 6 6 9 9 2 2 8
5020 FRFNBHELET 5 9 6 12 2 4 4 4 2 1
5030 FAFOME{—HT 6 3 4 6 3 4 5 4 0 3
9999 AN XET 23 18 14 24 11 17 18 10 4 12
5510 &) R ET 12 9 5 8 5 11 6 6 4 5
5520 = HhET 12 23 21 30 22 28 16 12 12 17
5530 75 = HT 13 24 14 14 17 15 21 4 13 14
5540 T EERT 16 15 7 11 9 6 11 6 9 8
5550 ERHT 1 3 3 4 4 3 1 4 2 2
9999 EHhARX &t 54 74 50 67 57 63 55 32 40 46
6010 FEIHET/MER 3 1 3 2 7 4 5 1 2 3
6020 [EHET o 9 2 5 4 4 4 2 0 0 2
6030 [ERTA I 3 1 3 5 3 1 2 0 1 3
6040 Bz FHT 11 7 9 8 9 7 9 3 8 7
6050 JI|EBTE 8 4 4 7 7 7 9 4 1 4
6060 JI|EHETF 7 11 3 6 6 2 3 2 2 2
9999 FEERXET 41 26 27 32 36 25 30 10 14 21
6510 HZEAFBHET 3 0 0 0 0 1 1 0 1 0
6520 B & A KIEHET 11 7 9 16 12 7 10 3 5 6
6530 HZEAFTHET 7 3 5 4 3 3 5 2 1 4
6540 BEAILLTHT 10 10 4 5 15 7 7 10 7 10
6550 B =AM Z NET 5 3 9 1 4 4 2 0 0 2
6560 B ZALEdLHT 4 1 6 5 4 8 2 2 5 4
6570 H R AIEFHT 5 5 9 7 12 3 12 2 4 6
6580 B ZAEHRT 4 5 4 5 4 5 3 0 4 3
6590 HZ= ATHET 0 3 1 2 1 1 4 2 3 3
6600 B Z A HHT 3 8 3 2 2 3 5 1 3 2
6610 H&XA L FHHET 2 1 2 2 4 3 2 1 2 0
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[R5.5.31IRE 1ITEHET & (K=F) Al F oA A O HFR (S5

TRET(KF)a—K {TEET(KFE)L 705 71% 72 73 74% 75 716k 71 718 79

6620 HZE A FGHET 1 2 2

6630 HZEA T AT 3 3 3

6640 B &= A EitlT 1 2 0

6650 B & ASRHET 0 0 0

6660 B Z A RLHET 1 3 2

9999 HEAKRKXET 60 5 6 59 68 5 6 3 5 4
7010 Z RMOET 3 8 14 1

7020 — R A<HT 16 1 1 8 13

7030 — R FRHAET 9 5 1

7040 — B T KEFHT 14 12 8

7050 — R ¥7 H I ET 2 9 4

9999 — R XEt 44 3 3 42 40 3 2 1 2 3

8011 JRAHTFEERL
8012 YAHTFEERA
8013 IR AHTFERIL
8021 YRAHTZEKLY
8022 IR AHTIEKA
8023 R AHTZEKIE
8031 IRAHTH ALY
8032 {AETHAA
8033 IRAHTH AL
8041 IR AHTELIRL
8042 R AHTELIRA
8043 IR AHTELIR L
8044 IR AHTELIRIZ
8045 IR AHTALIR (X
8050 IR AHT A
8060 IR AHTFT
8070 RAHETER
8080 I AHT ki
8090 I AHT i E
8100 Y AHETH /IR
8110 3RAHTJI| 5k
8120 IR AHETEE"
8130 3R AHTH £
8140 IRABTEFRT
8150 IRAHTHFkK L
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9999 AKX ET 58 63 81 68 85 68 57 2 44 50
9010 F THTXEH 16 21 22 24 24 23 15 17 23
9020 FTHTHER 16 15 15 18 16 16 12 11 10
9030 FTHI#HEH 26 33 28 35 29 32 21 24 26

9040 F THTHERH 40 40 35 38 43 37 46 15 45 29
9999 FTHXET 98 109 100 115 112 108 94 34 97 88
9110 SRET T Hik 16 25 17 19 20 21 13 13 16 21
9120 SFEETH L 5 11 11 14 9 9 4 4 6 8
9130 $RETH B 3 1 9 6 3 5 5 1 6 8
9140 $RAT T4t 13 23 17 23 13 22 16 3 14 10
9150 $EMET L £& 16 14 17 21 16 21 19 11 10 15
9160 SRHETER4T 18 27 19 19 29 31 24 15 25 18
9170 $ERTAH 21 25 27 33 28 35 29 15 21 26
9180 SRETER 34 19 16 20 21 23 17 9 16 15
9190 #ERTZ O 8 6 9 9 10 12 5 3 3 4
9200 $EHTEFIF 3 9 13 9 11 5 4 6 5 3
9210 $EET=H 13 11 13 18 13 10 8 5 10 11
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9220 $HT M H
9230 SxET &M
9240 $RHETIEE
9250 $EETILHrith
9999 FFXXET
9310 R[FHET:AR
9320 R[ZHATIL
9330 R[ZHET/INE
9340 H[IZHTRY
9999 RGHXET
9410 RETT &
9420 RHETHE
9430 RHETERK
9440 RETAEF
9450 RETHEIR
9460 RET{—_HE
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9480 RHETHER
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TRET (K a—F THRET(KF)& 80 81/ 82 83k 84k 85 86 87 88 89
10 HAT
20 [ d-HT
30 @M
40 LRHET
50 KET—T B
60 RET_TH
70 RET=TH
80 AT IR AT
90 FEHATIRAT
100 b ALET
110 #¥3;THT
120 #A;TAHET
130 ¥ FHT
140 HEAE BT
150 1 FFrHET
9999 KER X &t
510 AETHT B
520 4L EEMT
530 J\It&HET
540 15 EHT
550 FithET
560 = ZEHT
570 EEHT
580 ¥TREAET
590 FriEMT
600 ZERHET
610 FHT
630 FEBT=TH
9999 /\ & X5t
1010 S HET
1020 £ A HT
1030 H1 FrHT
1040 78 /T HT
1050 = HHET
1060 F _EHT
1070 7R ET
1080 & HHET
1090 HiEHRT
1100 EBiEHT
1110 fRIEMT
1120 #21E JTHT
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